N & 0l & AF S & M M

20188 = =0l& LB H MNEA&DSSH0 A
fA: MELDHSHHE
Mo LoI=X =X
@9 =X A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MEaDHSH0H 1,028, 116,043 868,546,961 159,569,082
= 866,247,785
Xl 4,360,000
J| 2,606,304
< 154,889,887
£ 12,067
Lo sXNsd 696, 183,058 555,361,938 140,821, 120
= 621,667,890
J| 1,283,004
< 73,232,164
Lo=sX &4 696, 183,058 555,361,938 140,821, 120
= 621,667,890
J| 1,283,004
< 73,232,164
ANELoEsH2I2 29XH 621,400 642,000 220,600
= 310,700
< 310,700
307 21201 A 621,400 642,000 220,600
= 310,700
< 310,700
10 M2 SXNANEHE2IHEX 621,400 642,000 220,600
OLEsdEEINZ 23 621,400
= 310,700
< 310,700
LoESEEINS 23 104,280 117,880 A 13,600
307 gl2tol & 104,280 83,880 20,400
10 AL SXAIEEE2EH EX 55,680 29,880 25,800
OLQLESHEBI2 ML MM 31,680
OERLAESHEHEZII& AdX= 24,000
11T ALS S XAEE = 48,600 54,000 A5,400
OLQolsttf oigAIY S X2 (0l &2 10%) 48,600
StiHOlol =M EHH 29 XA 179,200 174,820 4,380
= 89,600
< 89,600
307 glz2tol & 179,200 174,820 4,380
= 89,600
< 89,600
10 ALSISXAIEEE2EHEX 179,200 174,820 4,380
OstthLlof-l dE&H 2EXNA 179,200
= 89,600
< 89,600
AlLIE2YE 22 X& 785,200 792,000 A 6,800
308 XtXIEHH SOl A 785,200 762,000 23,200
01 AXHHILEES 785,200 762,000 23,200




fA: MELDHSHHE
Mo LoI=X =X
ool Lo=X B (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OAUNZ2Y 298 XA 763,000
OAMUOEE BAR H2HH 22,200
J=3 Ks 594,113,421 481,969,419 112,144,002
= 571,568,505
< 22,544,916
308 XX EHH SOl A 594,113,421 481,969,419 112,144,002
= 571,568,505
< 22,544,916
01 AXSHBLELS 594,113,421 481,969,419 112,144,002
OJIzdza X3 594,113,421
= 571,568,505
< 22,544,916
ColdRtel ¥ AtslE2sXE & 39,517,829 22,167,671 17,350, 158
= 30,398,330
< 9,119,499
308 XXM SO0 A 39,517,829 22,167,671 17,350, 158
= 30,398,330
< 9,119,499
01 IXNHHBNEES 39,517,829 22,167,671 17,350, 158
Ookeolgdiiel & AMalgs XN 39,517,829
= 30,398,330
< 9,119,499
tHeteolsl & HEs 29 L #HAKR 397,698 222,775 174,923
307 21201 A 226,698 222,775 3,923
10 ALSISXAIEEE2EHEX 172,000 162,000 10,000
OUst0ls TEs 29 XN2(ZZ2EX) 172,000
11 ASI S XA E = 54,698 60,775 NG6,077
OUst-olsl TAHES A XJA(ZZEX)(0
AFE 2 10%) 54,698
403 HXHHSA=0l& 171,000 0 171,000
01 HXHMA=E X 171,000 0 171,000
OAlZ Lol JIs8d 171,000
MHotcel=2X SAAY K& 15,000 30,000 A 15,000
308 XXM S0 A 15,000 30,000 A 15,000
01 AXSHHBLAEES 15,000 30,000 A 15,000
OYZ&A Hs2® = 23] N 15,000
SHUMOIZHRRAMH 22 255,500 160,000 95,500
307 glz2tol & 177,000 160,000 17,000
05 RIZt2IEt = 177,000 160,000 17,000
OQlMoI2 X g K& 177,000
308 XXl EHH SOl A 78,500 0 78,500




fA: MELDHSHHE
2 Lo=XE
el so=X EA (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 HIXNHHNBHNEES 78,500 0 78,500
OQMOI2% DtS& W (F2EN) 78,500
A0 S2IAANY 772,475 772,475 0
308 XXM SOIA 772,475 772,475 0
01 IXNHHBANEES 772,475 772,475 0
OMASTHItECl AALHHE 516,147
ORzd=24Y 29 256,328
M2 ALl HAH - 23 E 15,000 15,000 0
308 XAHXIEHHSOIA 15,000 15,000 0
01 HIXNHHBNEES 15,000 15,000 0
OGFF= AMEEE FA- 23AE 15,000
LosEsIIgMd8IAMg X 6,664,972 5,333,557 1,331,415
= 5,476,000
< 1,188,972
307 21201 A 63,889 0 63,889
= 31,944
< 31,945
10 ALSISXAIEEE2EHEX 63,889 0 63,889
OLossSAMHlA 2EXNA(HEHEH) 63,889
= 31,944
< 31,945
308 AHAIEHHSOIA 6,601,083 5,333,557 1,267,526
= 5,444,056
< 1,157,027
01 HXNHHNBMNELS 6,601,083 5,333,557 1,267,526
OkossIIEM8IAMg X2 6,601,083
= 5,444,056
< 1,157,027
LoESEE AL SOt BEX 6,404,379 5,202,530 1,201,849
= 5,274,192
< 1,130,187
308 XXM SO0l A 6,404,379 5,202,530 1,201,849
= 5,274,192
< 1,130,187
01 HIXNHHBNEES 6,404,379 5,202,530 1,201,849
OLossSEaMtA &I B 6,404,379
= 5,274,192
< 1,130,187
LosslleMulAs 2 X2 () 229,239 222,239 7,000
308 XtXIEHH SOl A 229,239 222,239 7,000
01 AXHHILEES 229,239 222,239 7,000
OLo=sII2Atls 29Xa 229,239




fA: MELDHSHHE
Mo LoI=X =X
gel: Lol=x S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SHL N (SSHEH 29) 327,500 100,710 226,790
308 AHAIEHHSOIA 127,500 100,710 26,790
01 HXNHHBHELS 127,500 100,710 26,790
OSHE SSHEN 28 XN 127,500
403 XSS A0l & 200,000 0 200,000
01 XM A=2EE 200,000 0 200,000
ontg SXAN4E HE(F2UEN) 50,000
OSAHLY SSFAHALE Ex(=UEA) 150,000
SEHALAESHNY SSHdLBAME A 2L XA (X 994,167 1,071,420 ATT,253
M)
J| 994,167
308 XtXIELHSOIA 994,167 1,071,420 ATT,253
J| 994,167
01 X HHILEES 994,167 1,071,420 ATT,253
O=ENLUESZMH SSHHLHAMHA 2
A& 994,167
J| 994,167
SEHLUESSHNY SSHHLBAME A 2YIA (A 52,674 46,464 6,210
HHIE)
J| 26,337
< 26,337
307 gl2tol & 52,674 46,464 6,210
J| 26,337
< 26,337
10 AL SXAIEEE2EHEX 52,674 46,464 6,210
OSHLUSSHM SsSAdLSAEA 2
A& 52,674
J| 26,337
< 26,337
SHLUSSTHLY S LML HH 2= 393,750 396,000 A2,250
J| 262,500
< 131,250
403 X SHHSA=0l& 393,750 396,000 A2,250
J| 262,500
< 131,250
01 X ESHHMA=LE L 393,750 396,000 A 2,250
OSHLUSSHM SsSAH LS AEA FHH|
= 393,750
J| 262,500
< 131,250
SN AS ZAHEHSAE IR 158,000 158,000 0
= 140,000
< 18,000
308 XX EHHSOIA 158,000 158,000 0
= 140,000




EX: AsSADHESHH 2 D}
HY: Lo=xEd
gel: Lol=x S CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
= 18,000
01 AIKISHHENEXZ 158,000 158,000 0
OSHLQ Als|2H 435 158,000
= 140,000
o= 18,000
SO JIAFABIA B B X 167,712 167,085 627
= 138,116
= 29,596
308 MXISHMSOIA 167,712 167,085 627
= 138,116
& 29,596
01 IXHHINMNEEXTZ 167,712 167,085 627
OYIIILAFAHI A SO X 167,712
= 138,116
= 29,596
A B2EEs&A 621,250 550,000 71,250
= 489,000
& 132,250
307 2Iz2t0| A 611,250 550,000 61,250
= 489,000
& 122,250
05 QIZ2tRE 2 611,250 550,000 61,250
OAglZ28Es N 611,250
= 489,000
=} 122,250
308 XAHXIGHHM SO0l & 10,000 0 10,000
01 IXHHNIMNEXS 10,000 0 10,000
OEANT CIMTHANH 2 AISA 10,000
At 2 LololdH s 36,000 9,000 27,000
308 AMXISHMSOIA 36,000 9,000 27,000
01 AIXSHMENEXZ 36,000 9,000 27,000
OLkolold ¢ Aty s 36,000
FAXNJAHE &SH45 5,400 5,400 0
308 XAHXIEHMSOIA 5,400 5,400 0
01 AIXSHMENMNEX=Z 5,400 5,400 0
OLoFIRNAHME E=HI 5,400
LogIAldE X 26,945,295 21,210,347 5,734,948
201 LBt | 4,050 4,050 0
01 AP 22| d| 4,050 4,050 0
OABIEX AL 2l XI& (ol A2 10%) 2,700
OQALESAF LA X & (O AEZE 10%) 1,350
307 2iz2to| & 125,000 148,210 N23,210




2N

Hu: Lo=XEA
gel: Lol=x S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
05 RIZHRI & 3 87,000 115,000 A 28,000
OLg Lo2dAd 2229 X 87,000
10 ALSISXAIEEE2IHEX 38,000 33,210 4,790
Ol - THILAIE SAA E=1=E 2 2
AT HI(Oll &= 2H) 38,000
308 XXIEHHSOIA 26,816,245 19,802,087 7,014,158
01 AXHHILEES 26,816,245 19,802,087 7,014,158
OLQIMEAL BIQYEE X2 (ANEZ0) 18,709,490
OLQMEANLE SSAXN 2SN 418,841
OMIMCAHIQLAEE XA(MIHSH) 6,338,130
OMItc XM A 29 966,000
OLQ=XAE SAL ML N& 383,784
Lo=ENa 29 N 140,000 68,000 72,000
307 21201 A 15,000 13,000 2,000
11T MISRASEEX 15,000 13,000 2,000
OLQXaESAH & HZ24 =M 15,000
403 Ut SHHSA=0l& 125,000 55,000 70,000
01 HXSHMA2E X 125,000 55,000 70,000
Ookolsg=la Jis2d 125,000
Y2HEY 29 1,165,300 1,290,300 125,000
308 XXM SO0l A 1,165,300 1,165,300 0
01 IXNHHBNEES 1,165,300 1,165,300 0
og=z=4 24 1,165,300
22 & 2,343,500 2,262,678 80,822
308 XXIEHH SOl A 710,000 660, 178 49,822
01 AXHHIYEES 710,000 660, 178 49,822
ozzg 29 710,000
403 Mt SHHSA=0l& 1,633,500 1,602,500 31,000
01 HXSHMA=LE X 1,633,500 1,602,500 31,000
Oozzg d -5 2 JIsEd 1,633,500
229 Nd ZAMEH=2E 277,352 276,126 1,226
= 138,676
< 138,676
307 glz2+ol & 277,352 276,126 1,226
= 138,676
< 138,676
10 ALSISXAIEEE2EH EX 277,352 276,126 1,226
OZ2EXE 24y 29 277,352
= 138,676
< 138,676




fA: MELDHSHHE
2 Lo=XE
el so=X EA (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Z2E Wity ¥ 224 XA 5,487,848 5,423,412 64,436
= 2,743,924
< 2,743,924
308 AHAIEHHSOIA 5,487,848 5,423,412 64,436
= 2,743,924
< 2,743,924
01 HIXNHHNBHELS 5,487,848 5,423,412 64,436
OZ=2% diteyl & 25=2Hl N2 5,487,848
= 2,743,924
< 2,743,924
LZAE 29H X2 736,259 503,765 232,494
= 653,185
< 83,074
308 XXM SO A 736,259 503,765 232,494
= 653,185
< 83,074
01 IXNHHBANEES 736,259 503,765 232,494
O2ZAE 2H X& 736,259
= 653,185
< 83,074
MOMEII D2t ANISAMSIXASAH AL 76,108 74,662 1,446
= 58,544
< 17,564
308 XX EHH SOl A 76,108 74,662 1,446
= 58,544
= 17,564
01 HXNHHNBHEELS 76,108 74,662 1,446
OMMNEI A2 XIS ASIXH2AAAH ALS 76,108
= 58,544
< 17,564
CO=ETAE BI2EXE 16,173 0 16,173
201 L2l 16,173 0 16,173
01 At 2t 2l 16,173 0 16,173
OLe=Xa It 2L X2 (MAEZ 10%) 8,307
OLZAIE It 22 XA (0 E 2 10%) 7,866
RIS 241,000 0 241,000
= 241,000
403 A X EHHS =0l A 241,000 0 241,000
= 241,000
01 X HHMAZE L 241,000 0 241,000
Os4z =233 &2 HE=S 241,000
= 241,000
COQAANLEHEISELAMS (AZRE) 5,922,177 3,826,203 2,095,974
= 3,948,118




fA: MELDHSHHE
Hu: Lo=XEA
ool Lo=X B (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,974,059
403 MtXISHHSA=0l& 5,922,177 3,826,203 2,095,974
= 3,948,118
< 1,974,059
01 XM A=2E X 5,922,177 3,826,203 2,095,974
OLQ=XAE JsE2AY 5,922 177
= 3,948,118
< 1,974,059
Al =X gt 9,008 17,083 A8,075
ABl=X SEXH 9,008 17,083 A 8,075
SXANHEA 2F 2F 6,300 6,300 0
201 Lt 6,300 6,300 0
01 At 22l 6,300 6,300 0
OMELDESZ0F 24 AHEA 29 6,300
SENEH Y 2,708 10,783 A8,075
203 YR =&t 2,708 10,783 A 8,075
03 Al =X YR =& 2,708 10,783 A8,075
OMs&DHs APFZ(MAEZ 5%) 2,708
2= -5 N& 324,496,363 305,358,648 19,137,715
= 243,614,320
X 2,000,000
< 78,869,976
£ 12,067
220t EFAMHA Dl &S 324,496,363 305,358,648 19,137,715
= 243,614,320
Xl 2,000,000
< 78,869,976
£ 12,067
OEgols &= 495,000 180,000 315,000
= 330,000
< 165,000
403 XIS E X201 H 495,000 180,000 315,000
= 330,000
< 165,000
01 X EHHMA=LE L 495,000 180,000 315,000
Ooogold == 495,000
= 330,000
< 165,000
oeloleldstsd 249 390,000 390,000 0
307 glz2tol & 390,000 390,000 0
05 RIZHRIE 3 390,000 390,000 0
Ongoledstsd 293 390,000
B8 EXAHAY X 9,861,300 9,773,300 88,000




fA: MELDHSHHE
HH: BSOS X8
& R0 EFMHA JIg &5 (&)
= — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 9,436,300 9,436,300 0
01 HIXNHHBHNEELES 9,436,300 9,436,300 0
OE=s S:AMAY X 9,436,300
403 MtXISHHE X201 & 425,000 337,000 88,000
01 XM A=2EE 425,000 337,000 88,000
Oeold sdiHs 425,000
AEHE0IE EX XA 50,000 125,000 275,000
403 XM S =0l A 50,000 125,000 275,000
01 AXSHHMA2E = 50,000 125,000 A75,000
OXZFNHE0E EXXEAY 50,000
g0l N BEx0=s 148,216 97,624 50,592
2 74,108
< 74,108
307 gl2tol & 148,216 97,624 50,592
= 74,108
< 74,108
05 RIZHRI & 3 148,216 97,624 50,592
OE®niA 1= 148,216
= 74,108
< 74,108
250 A XA 22,500 22,500 0
307 glz2+ol & 22,500 22,500 0
04 QIZFHALAIH E = 22,500 22,500 0
OE=¢l sitsisl 13,500
Of+=ESZ2d & Wy Eotis 4,500
OEsuiA A3 4,500
2SO0SEXNJEH =294 158,500 159,000 A 500
307 21201 A 158,500 159,000 A 500
05 RIZt2IE = 158,500 159,000 A 500
OSE=S0EEXNJHEH LX= 18,500
Oy SO ZBZH AL 140,000
LOISEXNJAEH 24 414,546 447,484 A 32,938
= 207,273
= 207,273
307 12+0| & 414,546 447,484 32,938
= 207,273
< 207,273
05 RIZt2E = 414,546 447,484 A 32,938
OZESIEENALH 29 414,546
= 207,273
< 207,273

«©




2AHd: N
H:

=
4
thel g

SA - BB B () - MM - BES Ol &t o San HmEET

NLSOISEEXNHAH 2L (OIE LSRN ALLY) 10,000 10,000 0
= 10,000

308 AHAIEHHSOIA 10,000 10,000 0
= 10,000

01 HXNHHBHELS 10,000 10,000 0
ONFALSAMY X & 10,000
= 10,000

=& Z2s00lssdH 29 N 137,150 152,000 A 14,850
= 96,000
< 41,150

307 glz2+ol & 137,150 152,000 A 14,850
= 96,000
< 41,150

05 RIZt2E = 137,150 152,000 A 14,850
O0lsa s0luad 29 137,150
= 96,000
< 41,150

AM2HH ES AL 700,167 405,852 294,315
= 538,590
< 161,577

308 XiXI EHAI S O & 700,167 405,852 294,315
= 538,590
< 161,577

01 X HHILEES 700,167 405,852 294,315
OAZHH EsAME XI& 700,167
= 538,590
= 161,577

oeloly eZid 1,000,177 1,000,177 0
= 666,785
S 333,392

403 MHXSHHSA=0l& 1,000,177 1,000,177 0
= 666,785
< 333,392

01 HXSHMA2E X 1,000,177 1,000,177 0
ongod JIs:ez 1,000,177
= 666,785
< 333,392

EKUAHA A8 XA 37,299,454 33,399,454 3,900,000
= 28,691,888
= 8,607,566

308 XXM SO A 37,299,454 33,399,454 3,900,000
= 28,691,888
< 8,607,566

01 IXNHHBANEES 37,299,454 33,399,454 3,900,000
OFRXNI0oe0d A 37,299,454




2AMd: A

%
M B0t X
Sl R0 BEAHIA I8 25 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 28,691,888
< 8,607,566
grot2szs N& 179,708,559 173,127,526 6,581,033
= 146,544,000
< 33,164,559
308 A EHSOIA 179,708,559 173,127,526 6,581,033
2 146,544,000
< 33,164,559
01 HIXNHHNBMNEELS 179,708,559 173,127,526 6,581,033
Ogwot 23 XA 179,708,559
= 146,544,000
< 33,164,559
gus E=2 X 17,934 99,000 A 81,066
< 5,867
£ 12,067
308 XXM SOl A 17,934 99,000 A 81,066
< 5,867
£ 12,067
01 AXHHBISEES 17,934 99,000 A 81,066
ogl=s Es=X& 17,934
< 5,867
£ 12,067
rgegssg XA 55,882,020 62,107,920 A6,225,900
= 45,584,000
< 10,298,020
308 Xt XIEHH SOl A 55,882,020 62,107,920 26,225,900
= 45,584,000
= 10,298,020
01 HXNHHBHELS 55,882,020 62,107,920 A6,225,900
OoXntg === XA 55,882,020
= 45,584,000
=) 10,298,020
23800l K& 3,420,547 3,713,007 A 292,460
= 2,698,000
< 722,547
308 X EHH SOl A 3,420,547 3,713,007 A 292,460
= 2,698,000
< 722,547
01 HIXNHHBNEES 3,420,547 3,713,007 A 292,460
OZ33g0eold XA 3,420,547
= 2,698,000
< 722,547
FIIUHEH 29 77,700 69,940 7,760
= 58,100
< 19,600
307 21201 A 6,200 0 6,200




SH: HBADZEHHYDY
M B0t X
& R0 EFMHA JIg &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,100
< 3,100
05 RIZtE = 6,200 0 6,200
ORZZLHEH 29 AIHEIt 6,200
= 3,100
< 3,100
308 MHXIEHSOIH 71,500 69,940 1,560
2 55,000
< 16,500
01 HXNHHBHELS 71,500 69,940 1,560
OREZUHEH 29 XA 71,500
= 55,000
< 16,500
SELNHY HRME X3 (LA 22,667,331 18,462,580 4,204,751
= 16,897,659
=) 5,769,672
307 glz2tol & 2,001,072 927,406 1,073,666
= 1,000,536
< 1,000,536
05 RIZHRI & 3 2,001,072 927,406 1,073,666
OUHM A 2124l 2,001,072
= 1,000,536
= 1,000,536
308 XXIEHHSOIA 20,666,259 17,535,174 3,131,085
=2 15,897,123
< 4,769,136
01 X HHILEES 20,666,259 17,535,174 3,131,085
OB Z WAL XI&(212H) 5,617,310
= 4,321,008
< 1,296,302
OQuMzZREZ M &HI 11,078,779
=2 8,522,138
< 2,556,641
OsHEESLUAM SEE8222Y 3,970,170
= 3,053,977
< 916,193
ZOHOtAIE &ZHH 6,000 6,000 0
= 4,000
< 2,000
403 A X EHHS 20l A 6,000 6,000 0
= 4,000
< 2,000
01 HXSHMA=LE X 6,000 6,000 0
OZOHOLAIE EZHH 6,000
= 4,000
< 2,000




2AMd: A

.
HE: 2% )t X
e R0 ESAHA Dl &= (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NH=0l2 HE 7,400,000 0 7,400,000
401 AlEHIZL 201 Y| 7,400,000 0 7,400,000
01 A& H| 7,400,000 0 7,400,000
OUWE XNHAS0lES HE(EXOHY) 7,400,000
WE JOAH=01= A AL HI 2,600,000 0 2,600,000
Xl 2,000,000
& 600,000
401 Al HI L 2 THHI 2,600,000 0 2,600,000
Xl 2,000,000
& 600,000
01 Al&H| 2,600,000 0 2,600,000
OUHWZEXAHA=01E HE 2,600,000
Xl 2,000,000
o= 600,000
AMZHH ESAIY (221012 29) 33,858 33,000 858
= 16,929
=} 16,929
307 QI2t0| ™ 33,858 33,000 858
= 16,929
= 16,929
05 QIZtREZ 33,858 33,000 858
OANZIMNESAIY 2202 29 33,858
= 16,929
& 16,929
AMZHH ESAHOIsEY) 15,000 30,000 A 15,000
= 10,000
& 5,000
403 XX SHS K201 & 15,000 30,000 A 15,000
= 10,000
= 5,000
01 XS A2E X 15,000 30,000 A 15,000
OAZIMESAY JIsEd 15,000
= 10,000
& 5,000
Helo|ld XA 1,543,084 1,543,084 0
= 1,186,988
& 356,096
308 XHXIGH SO0l & 1,543,084 1,543,084 0
= 1,186,988
& 356,096
01 IXHHIMNEXS 1,543,084 1,543,084 0
OelolE W 573,461
= 441,124
= 132,337
ONeold x| 773,756




fA: MELDHSHHE
HE: 2% )t X
& R0 EFMHA JIg &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 595,197
< 178,559
OsHEAM Haoeod X 195,867
= 150,667
= 45,200
Helold SINHIAAE X3 MY 437,320 0 437,320
403 MtXISHHE X201 E 437,320 0 437,320
01 AXSHMA=2EE 437,320 0 437,320
O0eold SBIFEFANAE XA 437,320
MEA CHEE =& 7,323,550 7,708,630 385,080
= 953,875
Xl 2,360,000
J| 1,323,300
< 2,686,375
NEA O =X 7,323,550 7,708,630 A 385,080
= 953,875
Xl 2,360,000
J| 1,323,300
< 2,686,375
HHEZMe sS4 EXA 78,210 70,310 7,900
= 69,300
< 8,910
308 XtXIEHHSOIA 78,210 70,310 7,900
= 69,300
< 8,910
01 AXHHILEES 78,210 70,310 7,900
OdEMe S4aHIEX 78,210
= 69,300
= 8,910
HEA = ASAU S 2 34,032 25,210 8,822
= 23,823
< 10,209
307 glz2tol & 34,032 25,210 8,822
= 23,823
< 10,209
02 It M AHE X 34,032 25,210 8,822
OMEsL 22 M3 39 34,032
= 23,823
= 10,209
ME4t 2= QAHE AFY 60,000 30,000 30,000
308 XXM SOIA 60,000 30,000 30,000
01 IXNHHBNEES 60,000 30,000 30,000
ONEL =5 AN AL 60,000
4 FSE AFEE - 548,000 43,000 505,000




2 A

AV e
E NNV EREFS
E NN

= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
307 glz2tol & 48,000 43,000 5,000
02 PIZHEHAHEE 28,000 28,000 0
OSMESHMIBBELE <
=) 14,000
OXEE AdFu(MHaAELY 14,000
04 QIZFHALAIH B = 20,000 15,000 5,000
Ofblsgy g &AL 20,000
403 MHXSHHSA=0l& 500,000 0 500,000
01 X ESHHMA=E L 500,000 0 500,000
ON&EZ IIE5ldH 28 500,000
HyER X 289,700 2,037,000 A 1,747,300
J| 207,300
= 82,400
308 XXM SO0l A 289,700 2,037,000 A 1,747,300
J| 207,300
< 82,400
01 IXNHHBNEES 289,700 2,037,000 A 1,747,300
OMAESE L Al=H XA 228,200
J| 163,000
< 65,200
ORXEA Bxod X 61,500
J| 44,300
< 17,200
HUER XEAY 110,000 0 110,000
308 AHAIEHHSOIA 110,000 0 110,000
01 HXNHHNBHNEELS 110,000 0 110,000
odg=es szt XNF ALY 110,000
HEEZUBH+E HMA 13,200 13,350 A 150
J| 8,800
< 4,400
308 XXM SOIA 13,200 13,350 A 150
J| 8,800
< 4,400
01 IXNSHHBNEES 13,200 13,350 A 150
OZ2X=Ed+=8 HM& XN& 13,200
Jl| 8,800
< 4,400
SELUAOIA ZAL 2 Eot2tel 355,500 355,500 0
J| 237,000
< 118,500
308 MtXIEHSOIH 355,500 355,500 0
J| 237,000
< 118,500




fA: MELDHSHHE
Mo HEM O =X
oSl HEA UM EX (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 355,500 355,500 0
OdEd MOl AL & Eotatel 355,500
J| 237,000
< 118,500
Ol=0t ¥ AdFH0l&0I 2=Hl XI& 985,500 985,500 0
J| 657,000
< 328,500
308 XXIEHH SOl A 985,500 985,500 0
J| 657,000
< 328,500
01 AXHHILEES 985,500 985,500 0
O0l=0F & ddHolaot 9 =dl X 985,500
J| 657,000
= 328,500
HE R 34,500 34,500 0
J| 23,000
< 11,500
308 MtXIEHMSOIH 34,500 34,500 0
J| 23,000
< 11,500
01 HXNHHNBHELS 34,500 34,500 0
OulMor & =D& 34,500
J| 23,000
= 11,500
AZAMOtHAZ 22| X2 AHY 2,663,480 2,287,800 375,680
Xl 2,360,000
< 303,480
308 XX EHHSOIA 2,663,480 2,287,800 375,680
X 2,360,000
< 303,480
01 IXNHHBNEES 2,663,480 2,287,800 375,680
O¢t=xel=<00 XNEAMY 2,663,480
X 2,360,000
< 303,480
=Xkl 2R3 A 530,000 0 530,000
308 XXIEHHSOIA 530,000 0 530,000
01 AXHHBILEES 530,000 0 530,000
Od=xelE20 =2202Ea N 530,000
FAEME JAEL O FH K& 46,800 47,700 A 900
J| 31,200
< 15,600
308 MtXIEHMSOIH 46,800 47,700 A 900
J| 31,200
< 15,600




EX: AsSADHESHH 2 D}
Mo HEM O =X
oot HEBM UM EZ CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AIKSHMEAMNEX= 46,800 47,700 A 900
OFAE &2 AAEA ozl KN 46,800
J| 31,200
o= 15,600
DA AAMES2H XA 238,500 238,500 0
J| 159,000
& 79,500
308 MXISHHMSOIA 238,500 238,500 0
J| 159,000
& 79,500
01 AXHHIMNEXS 238,500 238,500 0
OIS L AE o2 Hl XNH 238,500
J| 159,000
& 79,500
S0HF X K& AIS 150,000 150,000 0
= 100,000
= 50,000
308 XX SHAHSOIH 150,000 150,000 0]
= 100,000
o= 50,000
01 AIXSHMENEXZ 150,000 150,000 0
OO0t o X KA 150,000
= 100,000
= 50,000
284+ 883 T4 45,000 45,000 0
307 2iz2to| A 15,000 15,000 0
04 OIZ2tSHAFALS B X 15,000 15,000 0
ORe4+s A2 € = 15,000
403 XX SRS K20| & 30,000 30,000 0
01 MXHHXNE2BE =X 30,000 30,000 0
OBR4+% A& &83d e 30,000
JIMHAH & XHER XN 1,141,128 1,345,260 N 204,132
= 760,752
= 380,376
308 XX SHAHSOIH 1,141,128 1,345,260 N 204,132
= 760,752
= 380,376
01 AIXSHMEMNEEX= 1,141,128 1,345,260 N 204,132
OJIMA & ZHES XA 1,141,128
= 760,752
= 380,376
HESHAH (MSAtDHE SO =) 104,064 100,662 3,402
= 11,700
= 92,364
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